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MuHumymebl: MBI (aeHs) BHIO =(150)M/(500)I,D,I_B = 1000m (BepTOneThl);
MBI (aeHb) BHI'O=(150)M/(500)' OB = 2000m (camoneThbl);

MBI (Houb) BHI'O=(450)M/(1480)',D,FB =4000m (A,BepToneTbl,caMoneThbl);

[ns aBnapabor, NMNCO u TpeHnposok : MBI (aeHb) BHIO =(100)M/(330)I}:|,FB =1000wm; MBI (Hous) BHIO =(300)M/(990)I,D,FB =4000m;

U
BbICOThI (OTHOCUTENbHBIE) B MeTpax/(OTHOCUTENbHLIE),abCoMOTHLIE B dhyTax
HanpasneHusi MarHMTHble
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MuHumymebt: MBI (aeHb) BHIO =(150)M/(500)I OB = 1000m (BepToneThl);

MBI (aeHb) BHIO=(150)m/(500) OB =2000m (camonertbl);
MBI (Houb) BHI'O=(450)M/(1480)',EIFB =4000m (A,BepToneTbl,caMoneThbl);

’

[ns aBnapabor, NMCO n TpeHuposok : MBI (geHb) BHIO =(100)m/(330) 4B = 1000m; MBI (Houb) BHIO =(300)m/(990) OB = 4000Mm;

U ’
BbicoThbl (OTHOCUTENBLHBLIE) B METPax/(OTHOCUTENbHbIE),abCcomntoTHbIE B dhyTax

HanpasneHus marHuTHble
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